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Achievement Achievement with Merit Achievement with Excellence
Apply business knowledge to a critical 
problem(s) in a given large business 
context.

Apply in-depth business knowledge to 
a critical problem(s) in a given large 
business context.

Apply comprehensive business 
knowledge to a critical problem(s) in a 
given large business context.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL parts of the task in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–11 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.
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No part of the candidate evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.
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Subject Level 2 Business Studies Standard 90845 Total score 04 

Part 
Grade 
score 

Annotation 

All parts 
(a,b,c,d) 

A4 

The candidate provides enough evidence for A4 in this task, because they 
answered every section by using the resource material (where appropriate) to 
explain their answer and then link it to the business. 

For example, in the first answer in (c), the candidate explains that “the company 
is forced to pay employees and short-term contractors more … ultimately 
decreasing the company’s overall income and profits”. 

For a candidate to get an M5, referring to this example, they would need to fully 
explain the impact and the consequences for the business, using correct 
business terminology. 

The candidate could have said “One impact for SBW is that the costs of 
production have increased, due to the employees and short-term contractors 
having to work longer hours to fix the accounting errors. This means that SBW 
has an increase in expenditure in the cost of wages. This will affect SBW’s 
revenue – decreasing profits, as they are having to pay these employees more 
in wages. This means SBW will not be able to expand or invest in research and 
development in new wines / production systems, which could affect the long-
term sustainability of the business. 
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